EJANALOG WAY®

Front and back rack mount
Picturall Series Media Servers

Two rack kits are supplied with the device:
* Front ears (Ref: 180469) SCREWS SUPPLIED
e Rear rack mount rail (Ref: 180489) 16 x M4x10

(Compatible with the following devices: Twin, Quad, and Pro)

Mounting using only the front rack ears is sufficient for fixed installations. Additional

support, such astherear rack support or slide rails, is required for mobile applications,
and recommended for all.

Not supplied

Not supplied

To install the front ears:

1. Screw the ears on each side of the device using two M4x10 screws per side (M4x10 screws included in the
package).

2. Place the unit into the rack and screw the ears on the rack (screws not provided).

Analog Way Worldwide

Europe, Middle East & Africa: +33 (0)1 81 89 08 60
The Americas: +1 212 269 1902

Asia Pacific: +852 6882 7140
www.analogway.com



EJANALOG WAY®

QpEEEEE e a2 uat

RO D CEEmm e mmm 0 OO0 o ont

=] (]
% } Not supplied
0 ]
1
0
1
7
a
]

L1 v

¥

To install the rear rack rail:

Once the unit is installed into the rack.

1. Locate the four holes on each side of the device where the screws can be put into.

2. Use four M4x10 screws to fix the rear rail on each side of the device.

3. To screw the rail to the rack, screw two screws on each side of the rail (screws not provided).

4. Install the lacing bar between the two rails using two M4x10 screws. Choose the right distance according
to the cable position.

5. If needed, use tie cables to maintain the video cables on this lacing bar.

CAUTION!

Make sure to provide an adequate ventilation for the device. When installing it into
the rack, make sure no ventilation holes are blocked. The air intakes by the front panel
and exhausts by the back of the unit.

Make sure that the rails will pass through the back ears by the minimum of 15mm/
0,59 inch

Analog Way Worldwide

Europe, Middle East & Africa: +33 (0)1 81 89 08 60
The Americas: +1 212 269 1902

Asia Pacific: +852 6882 7140
www.analogway.com



